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Run _ 1 2 3 4 Run _ 1 2 3
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hFRUTESESRE]  hEIVEAER 10 — — — MRS hFUEMR 10 8 25
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= v 7.2 13.9 23.2 LT 1= Y, 13.9 — -
by 92.8 86. 1 76.8 68. 3 hity 86. 1 — —
BEAETINTIN B 89.7 89.4 89.0 88.5 HERETIUNTSE B 89.7 91.3 76. 6
705 )% 2 (mm) 4-5 6-10 6-10 5-1 709 9 (mm) 6-10 3-4 8-10
& RE (mL/10sec) 146 160 160 145 3853 B (mL/10sec) 160 150 150
AN (MEXIERT) 2.5 3.5 3.5 3.0 AEt (MEXERT) 3.5 285 3
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Run 1 2 3 4 5
FoAMEEREA] ToAVENE — — 100 — —
i R EH T L
1 T ELER 35 33 35 33 35
hF4vEN 2 30 28 30 28 30
2 7oAV EL S 5 — 5 — 15
hFFvELE 42 — 42 — 60
A4 EREE L 2 (£100%)
T4y 46.0 — 50.2 — —
hity 54.0 — 49.8 — —
HERETILTINEL S 39.0 — 37.3 — 28.4
70y 7 H1{E(mm) 10-13 1-2 10-20 1-2 8-15
318 38 3% BE (mL/ 10sec) 145 45 165 80 155
nNuF EhE) 0.3 4.0 0.0 2.0 0.1
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